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High School Mathematics WASL Practice Test

5 In a certain carnival game a player gets to spin each of the spinners once.

What is the probability of getting two numbers that have a sum of 7?

oA 1
4
oB. 1
6
OocC 5
12
oD T
24

Key: B
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High School Mathematics WASL Practice Test

8 Study the pattern shown in the table.

What is the value of s when r equals 107?

r 0 2 4 6 8
s 7 11 23 43 71

Support your answer using words, numbers, and/or diagrams.

What is the value of s when r equals 10?




SCORING GUIDE AND

TRAINING MANUAL @ HIGH SCHOOL MATHEMATICS

Scoring Rubric

High School Mathematics WASL Practice Test Item 8
Strand: Algebraic Sense

ASO1 Learning Target: (Patterns and Functions) Recognize, extend or create a
pattern or sequence of pairs of numbers representing a linear function;
identify or write a rule to describe a pattern, sequence, and/or a linear
function (1.5.1, 1.5.2)

A 2-point response shows clear understanding of how to determine and extend the
pattern. The student clearly indicates that the value of s would equal 107 and provides a
reasonable explanation and/or supporting work to justify this answer.

For example, the student may
. Show or explain that s = r* +7.
o Shows first differences are 4, 12, 20, 28, and the next difference should be 36.

A 1-point response shows some understanding of how to determine and extend the
pattern.

For example, the student may do one of the following:

o Indicate that the value of s would equal 107, but does not provide a valid
explanation to support the answer

o Indicate clear understanding of the pattern (e.g., sets up the equation s = r* +7),
but makes a computation or substitution error, so that the value obtained for s #
107.

A 0-point response shows little or no mathematical understanding of the problem.




SCORING GUIDE AND PRACTICE TEST ITEM

TRAINING MANUAL 8 - Anchor 1 HIGH SCHOOL MATHEMATICS

Study the pattern shown in the table.

What is the value of s when r equals 10?

Show your work.

What is the value of s when r equals 107 107

Score: Annotation:

9 The student shows understanding of how to determine and extend the pattern, indicates the value of s
equals 107, and justifies the answer by providing the appropriate algebraic equation. This response
earns two points.




SCORING GUIDE AND PRACTICE TEST ITEM

TRAINING MANUAL 8 - Anchor 2 HIGH SCHOOL MATHEMATICS

Study the pattern shown in the table.

What is the value of s when r equals 10?

TErETy 0 2 4
w7 11 23

s

Show your work.

2\ Ty
» 3/ ’,S:/

™
4

s

y

3.0

What is the value of s when r equals 102 _\0) f

Score: Annotation:

The student shows understanding of how to determine and extend the pattern, indicates the value of s
2 equals 107, and provides supporting work to justify the answer. This response earns two points.




SCORING GUIDE AND PRACTICE TEST ITEM

TRAINING MANUAL 8 - Anchor 3 HIGH SCHOOL MATHEMATICS

Study the pattern shown in the table.

What is the value of s when r equals 10?

M ¥ 2 4
s w7 11 23

s-\ 1§

Show your work.

Tex=il 1Rz 25 LErx=y3 H 51X T
Xz  X7[L % =20 X= 40
71367107
LtB =1z
(2+8=%°

=72
258 - &9
19407 7°

What is the value of s when r equals 10? | O 7

Score: Annotation:
The student shows understanding of how to determine and extend the pattern, indicates the value of s
2 equals 107, and provides supporting work to justify the answer. This response earns two points.




SCORING GUIDE AND PRACTICE TEST ITEM

TRAINING MANUAL 8 - Anchor 4 HIGH SCHOOL MATHEMATICS

Study the pattern shown in the table.

What is the value of s when r equals 10?

_..1»,. 0 2 4

SRR 13 23

Show your work.

What is the value of s when r equals 107 l@ ;Z‘

Score: Annotation:
The student shows partial understanding of how to determine and extend the pattern by indicating
1 that the value of s equals 107 but provides no supporting work. This response earns one point.




SCORING GUIDE AND PRACTICE TEST ITEM

TRAINING MANUAL 8 - Anchor 5 HIGH SCHOOL MATHEMATICS

Study the pattern shown in the table.

What is the value of s when r equals 10?
2 L e K

2 4 8 8 & 10
A1 23 43 [l joi 151

« Y T2 Y0 x1F czy, t o
Show your work. -3 23 =i 3 -G

}H! wa{‘%—;‘i an '}'(4-(.,, }Ligk»/\

What is the value of s when r equals 107 _| 51

Score: Annotation:
The student shows partial understanding of how to determine and extend the pattern. Gives supporting
1 work that has a computation error that extends the pattern to 151. This response earns one point.
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SCORING GUIDE AND PRACTICE TEST ITEM

TRAINING MANUAL 8 - Anchor 6 HIGH SCHOOL MATHEMATICS

Study the pattern shown in the table.

What is the value of s when r equals 10?

r 0 2 4
5 7 11 23

Show your work.

What is the value of 5 when r equals 107 & O—}

Score: Annotation:
The student shows partial understanding of how to determine and extend the pattern by indicating
1 that the value of s equals 107 but provides no supporting work. This response earns one point.

11



SCORING GUIDE AND PRACTICE TEST ITEM

TRAINING MANUAL 8 - Anchor 7 HIGH SCHOOL MATHEMATICS

Study the pattern shown in the table.

What is the value of s when r equals 10?

i 0 2 4

e 11 23

Show your work.

s AV

eAnCh . clyo ond

@Lﬂ’«*"“& 4!

What is the value of s when r eguals 10? 3

Score: Annotation:

0 The student shows little or no understanding of how to determine and extend a pattern by incorrectly
indicating that s equals 77 and giving inappropriate supporting work. This response earns zero points.

12



SCORING GUIDE AND PRACTICE TEST ITEM

TRAINING MANUAL 8 - Anchor 8 HIGH SCHOOL MATHEMATICS

Study the pattern shown in the table.

What is the value of s when r equals 10?

ri-oree 0 2 4
; 7 11 23

pare—

S | 225 -5

Show your work.

DaEEE 07.01,23,8,7
W
RO )

92720)
??1

b\‘( <

What is the value of s when r equals 10?

Score: Annotation:

0 The student shows little or no understanding of how to determine and extend a pattern by giving
inappropriate work and not indicating a value for s. This response earns zero points.
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SCORING GUIDE AND PRACTICE TEST ITEM

TRAINING MANUAL 8 - Anchor 9 HIGH SCHOOL MATHEMATICS

Study the pattern shown in the table.

What is the value of s when r equals 10?

2 4
5 7 11 23

Show your work.

*"3‘1\1

-]

L\'B
03

3

2%
!

What is the value of s when r equals 10? 2 C]

Score: Annotation:
The student shows little or no understanding of how to determine and extend a pattern by incorrectly
0 indicating that s equals 79 and giving inappropriate supporting work. This response earns zero points.

14
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High School Mathematics WASL Practice Test

9 A company is making shoe boxes from cardboard. The cardboard is 20 inches in
length and 16 inches in width. The company is going to cut square pieces off each
corner as shown in the diagram below and fold the sides up.

} 20 inches |

16 inches

X X

What would be the formula for the volume of the box in terms of x?
O A. V=4x-72x+320x

O B. V=x*-36x*+320x

O C. V=4x-72x+320

O D. V =320x

Key: A

15
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High School Mathematics WASL Practice Test

18 The parents’ library committee printed 350 books of 24 raffle tickets. After all the
tickets are sold they plan to draw 30 winning tickets. Phil bought 5 tickets. Which of
these is closest to the probability that he will win?

oA 1
6
oB 1
56
oc 1
70
oD _1
280
Key: B

16



High School Mathematics WASL Practice Test

20 In the isosceles triangle shown, AB = AC.

A

6x+ 4)°  (7Tx — 8

B

What is the value of x?

Support your answer using words, numbers, and/or diagrams.

What is the value of x?

17



SCORING GUIDE AND

TRAINING MANUAL @ HIGH SCHOOL MATHEMATICS

Scoring Rubric

High School Mathematics WASL Practice Test Item 20

Strand: Making Connections

MCoO1 Learning Target: (Connections within Mathematics) Use concepts and
procedures from multiple mathematics content strands in a given problem
or situation; relate and use different mathematical models and
representations of the same situation. (5.1.1, 5.1.2)

A 2-point response: The student applies conceptual and procedural understanding
between the geometric sense and algebraic sense content strands by relating the equal
sides of the triangle to their corresponding equal angles and writing and solving an
equation or showing another valid method to find the value of x, which is 10.

Example:
6x+4="Tx—-6
6x + 10 = 7x
10 =x

Allow for one notation error.

A 1-point response: The student does one of the following:

¢ shows algebraic work but never writes an equation, and the solution is correct

* writes a correct or mostly correct equation, but the solution is incorrect or missing
* implies a correct equation, but the solution is incorrect

* gives a correct answer with no work or incorrect work shown

A 0-point response: The student shows very little or no conceptual or procedural
understanding between the geometric sense and algebraic sense content strands.

18



SCORING GUIDE AND PRACTICE TEST ITEM

TRAINING MANUAL m HIGH SCHOOL MATHEMATICS

20. In the isosceles triangle shown, AB = AC.

r4P  x-%yp

B
What is the value of x?

Show your work.

Score: Annotation:

9 The student makes connections between geometric sense and algebraic sense by relating the equal

sides of the triangle to their corresponding equal angles and writing and solving an equation to find the
value of x, which is 10. This response earns two points.

19



SCORING GUIDE AND PRACTICE TEST ITEM

TRAINING MANUAL m HIGH SCHOOL MATHEMATICS

20. In the isosceles triangle shown, AB = AC.

A

Bx+4P (Ix-8p°

What is the value of x?

Show your work.

kX w4 =2x -t
5 :}‘-‘

Al = 7x
—LK ~lex

1o =X

Score: ) Annotation:

9 The student makes connections between geometric sense and algebraic sense by relating the equal

sides of the triangle to their corresponding equal angles and writing and solving an equation to find the
value of x, which is 10. This response earns two points.

20



SCORING GUIDE AND PRACTICE TEST ITEM

TRAINING MANUAL m HIGH SCHOOL MATHEMATICS

20. In the isosceles triangle shown, AB = AC.

Bx+4yp  {Tx-—-8)F

What is the value of x?

Show your work.

Gy =T%06
=6

=10

Score: Annotation:

9 The student makes connections between geometric sense and algebraic sense by relating the equal

sides of the triangle to their corresponding equal angles and writing and solving an equation to find the
value of x, which is 10. This response earns two points.

21



SCORING GUIDE AND PRACTICE TEST ITEM

TRAINING MANUAL 20 - Anchor 4 HIGH SCHOOL MATHEMATICS

20. In the isosceles triangle shown, AB = AC.

A

(ex+ 4P (x-8p

What is the value of x?

Show your work.

(bx ¥ (1x-&)
¥ —ox
T 1 Wb

o to
0= X
x Vx

& !D

Score: Annotation:
The student makes connections between geometric sense and algebraic sense by showing algebraic
2 work, in an implied equation: “I10/1 x = Ix/1x,” and giving a correct solution. This response earns two
points.

22



SCORING GUIDE AND PRACTICE TEST ITEM

TRAINING MANUAL m HIGH SCHOOL MATHEMATICS

20. In the isosceles triangle shown, AB = AC.

{Ex -+ 4)° 7x— 8)°

What is the value of x?

Show your work.

Score: Annotation:
The student makes partial connections between geometric sense and algebraic sense by giving a correct
1 value of x with no work shown. This response earns one point.

23



SCORING GUIDE AND PRACTICE TEST ITEM

TRAINING MANUAL 20 - Anchor 6 HIGH SCHOOL MATHEMATICS

20. In the isosceles triangle shown, AB = AC.

Bx+4P  (Fx—8)°

What is the value of x?

Show your work.

Loy Q) Cry-0D

~— (c’\(*— P
3 Y=y +0

f¥=]O

s=_¥h

Score: Annotation:
The student makes partial connections between geometric sense and algebraic sense by writing a
correct equation, but giving an incorrect solution. This response earns one point.
1 t equation, but giving an i t solution. Thi int

24



SCORING GUIDE AND PRACTICE TEST ITEM

TRAINING MANUAL m HIGH SCHOOL MATHEMATICS

20. In the isosceles triangle shown, AB = AC.

Bx+ 4y {Fx-8°

What is the value of x?

Show your work.

(Lo +".’3a (7,%"@)0

/0

Xz /]°

Score: Annotation:
The student makes little or no connection between geometric sense and algebraic sense by writing an
0 expression rather than an equation and giving an incorrect solution. This response earns zero points.

25



SCORING GUIDE AND PRACTICE TEST ITEM

TRAINING MANUAL 20 - Anchor 8 HIGH SCHOOL MATHEMATICS

20. In the isosceles triangle shown, AB = AC.

(x+ 48  ([7x~8)°

What is the value of x?

Show your work.

Score: Annotation:
The student makes little or no connection between geometric sense and algebraic sense by writing an
incorrect equation and giving an incorrect solution. This response earns zero points.
0 i t equation and giving an i t solution. Thi int

26



SCORING GUIDE AND PRACTICE TEST ITEM

TRAINING MANUAL 20 - Anchor 9 HIGH SCHOOL MATHEMATICS

20. In the isosceles triangle shown, AB = AC.

Ex+4°  (Tx—B)°

What is the value of x?

Show your work.

170 = Gxd ¥ -0
120= 3%
1 -+

[l
e
\% 13 XF

»=_4.5%

Score: Annotation:
The student makes little or no connection between geometric sense and algebraic sense by writing an
0 incorrect equation and giving an incorrect value for x. This response earns zero points.

27
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23 In parallelogram PQRS the measures of angle P and angle R are each 146°.

What is the measure of angle Q?

O A. 146°

O B. 112°

O C. 68°

O D. 34°
Key: D

28
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24 Mr. Lansing has a square garden that is completely surrounded by an old, rickety
fence. He plans to tear down the old fence and make his new square garden 4
times the area of his old garden. If the old fence has a total length of 80 ft, how
long will the new fence be?

Determine the total length of the new fence and the area of the new garden.

Show your work using words, numbers and/or diagrams.

The total length of the new fence will be ft.

The area of the new garden will be sq. ft.

29



SCORING GUIDE AND

TRAINING MANUAL w HIGH SCHOOL MATHEMATICS

Scoring Rubric

High School Mathematics WASL Practice Test Item 24

Strand: Measurement

MEO1 Learning Target: (Attributes and Dimensions) Demonstrate
understanding of how a change in one linear dimension affects surface area
and volume or how changes in two linear dimensions affect perimeter, area,
and volume (1.2.1)

A 2-point response: The student shows an understanding of how changes in
dimensions can impact other measurable attributes by doing the following:

¢ indicates 160 ft for length of the new fences

¢ shows work and/or explanation supporting the new fence length

* indicates 1600 sq. ft for area of the new garden

* shows work and/or explanation supporting the new area.

Example:
Old Garden New Garden
80 4 =20 ft per side Area =400 4 =1,600 sq. ft
Area =20 20 =400 sq. ft Side = =40 ft

Perimeter =40 4 =160 ft

Note: Allow one computation error as long as conceptual understanding is clear.

A 1-point response: The student does two or three of the following:
* indicates 160 ft for length of the new fences

* shows work and/or explanation supporting the new fence length
* indicates 1600 sq. ft for area of new garden

* shows work and/or explanation supporting the new area.

A 0-point response: The student shows very little or no understanding of how changes
in dimensions can impact other measurable attributes.

30



SCORING GUIDE AND PRACTICE TEST ITEM

TRAINING MANUAL m HIGH SCHOOL MATHEMATICS

Mr. Lansing has a square garden that is completely surrounded by an old,
rickety fence. He plans to tear down the old fence and make his new square
garden 4 times the area of his old garden. If the old fence has a total length
of 80 ft, how long will the new fence be?

Determine the total length of the new fence and the area of the new garden.

Show your work using words, numbers and/or diagrams.

80 +4 =20%: yoow*
Hoo x4 =1600
Jieoo =4O
UO x4 =160

The old Gonce s SOLF end aroun is peers all st

e ¢ T o dvtde B8 by 4 Wi ged ;s Ae_Side or

4D x2.0 {@ﬂ m,'//gr'gg yga &; ;&g[% of A dﬂ’gtﬂglg@l&.«.‘ HEO #z TAC-

. Lﬁgﬁ;_ﬂ_é,&{‘ﬂ__&.‘d’[/ have g arep Y hoes tet of toe. or!'gr;'mf o HoO.4 Treetoe, He |

[2] /e r of 1600 84Z S erchen is_elsa s

£ ros #sre b fnd Hoe St TBee of HO

{100 <p,

ud, leaghl oF ssch s o sets : s Mo, bl o e, peczonce

The total length of the new fence will be 16O g,

The area of the new garden will be 1L 0Q sq ft.

Score: Annotation:
The student shows understanding of how changes in dimensions affect area and perimeter by showing
2 accurate computations of the fence length and garden area. An explanation and calculations support

the answers given. This response earns two points.

31



SCORING GUIDE AND PRACTICE TEST ITEM
TRAINING MANUAL B4~ Anchor 2 8 HIGH SCHOOL MATHEMATICS

Mr. Lansing has a square garden that is completely surrounded by an old,
rickety fence. He plans to tear down the old fence and make his new square

garden 4 times the area of his old garden. If the old fence has a total length
of 80 ft, how long will the new fence be?

Determine the total length of the new fence and the area of the new garden.
Show your work using words, numbers and/or diagrams.

" EnEY
20 {10
— S

g

BIFTITE SR

- e 14

Slest T found owt fhg lenath of each side, o d‘w'\dtwb %0

bul & Twan T drepy D gy boxes Thet were, 20 Pot

on tagh sde also. Newr T added ench =ide ot dhe Now

sdes ooty wnich act me 40 feet on each srlervow

T mm\*‘p\\u\ ‘ou\‘ A wecouze. thore ore, b 5605 and o c&,ﬂ:t‘

. oreo. o muitiplied  IXW  and ot oot me lap.

&0 %,

The total length of the new fence will be {bO __ft.

The area of the new garden will be 1000 _ sq fi.

Score: Annotation:

9 The student shows understanding of how changes in dimensions affect area and perimeter by showing

accurate computations of the fence length and garden area. An explanation and calculations support
the answers given. This response earns two points.

32



SCORING GUIDE AND PRACTICE TEST ITEM

TRAINING MANUAL W HIGH SCHOOL MATHEMATICS

Mr. Lansing has a square garden that is completely surrounded by an old,
rickety fence. He plans to tear down the old fence and make his new square
garden 4 times the area of his old garden. If the old fence has a total length
of 80 ft, how long will the new fence be?

Determine the total length of the new fence and the area of the new garden.

Show your work using words, numbers and/or diagrams.

Lo sy [alydal C’ﬁ\i-\: QGO"%\-L
ho (e oY

75 oo S$i™

AY:

708 and W area con NS 294 AL
N 460 X 8 o sl e&mﬂk £

o Lovae A m%gg;‘gmﬁ %gk W) N, e

spuoct mak dr EOS squds O, Ve

M@&Am&mm,&nggh&wm‘

The total length of the new fence will be 16O s

The area of the new garden will be 2Q &\ sq £t

Score:

Annotation:

The student shows understanding of how changes in dimensions affect area and perimeter by showing
accurate computations of the fence length and garden area. An explanation and calculations support
the answers given. This response earns two points.

33



SCORING GUIDE AND PRACTICE TEST ITEM

TRAINING MANUAL 24 - Anchor 4 HIGH SCHOOL MATHEMATICS

Mr. Lansing has a square garden that is completely surrounded by an old,
rickety fence. He plans to tear down the old fence and make his new square
garden 4 times the area of his old garden. If the old fence has a total length
of 80 ft, how long will the new fence be?

Determine the total length of the new fence and the area of the new garden.

Show your work using words, numbers and/or diagrams.

“Tek le 86
‘Tj@/, R

rank e e1es
wholade 10

The total lengih of the new fence will be “ﬂ@ fi.

The area of the new garden will I"A’QI }O sq I,

Score: Annotation:

The student shows understanding of how changes in dimensions affect area and perimeter by showing
2 accurate computations of the fence length and garden area. Calculations support the answers given.
This response earns two points.

34



SCORING GUIDE AND PRACTICE TEST ITEM

TRAINING MANUAL w HIGH SCHOOL MATHEMATICS

Mr. Lansing has a square garden that is completely surrounded by an old,
rickety fence. He plans to tear down the old fence and make his new square
garden 4 times the area of his old garden. If the old fence has a total length
of 80 ft, how long will the new fence be?

Determine the total length of the new fence and the area of the new garden.

Show your work using words, numbers and/or diagrams.

The total length of the new fence will be _| b0 1.

The area of the new garden will be _tb00 sq ft.

Score: Annotation:
The student shows partial understanding of how changes in dimensions affect area and perimeter by
1 showing the correct fence length and garden area. No explanation or calculations support the answers

given. This response earns one point.

35



SCORING GUIDE AND PRACTICE TEST ITEM

TRAINING MANUAL 24 - Anchor 6 HIGH SCHOOL MATHEMATICS

Mr. Lansing has a square garden that is completely surrounded by an old,
rickety fence. He plans to tear down the old fence and make his new square
garden 4 times the area of his old garden. If the old fence has a total length
of 80 ft, how long will the new fence be?

Determine the total length of the new fence and the area of the new garden.

Show your work using words, numbers and/or diagrams.

old B~ 2] et
T M A
B NV T Y
580#;.
Al BE (B
20T T 3
leaexd

5 qlgdo
22

T+ sad the ol Omtden B B
Sguareso-a|l sideg mee pamatenis 20d
g0 ('”:Lt': 26. The 2fca of :_-; Sounsc 18
brHseT cowtigliced 2% am=e &CD,
HOO K A SiMee it et do b £ dlones
I2roer aod fhen divided =N, 2 becode
the fente 18 & +t0ex §Npller Hvapd |

e  lem

The total length of the new fence will be DL fi.

The area of the new garden will be [ &00 sq ft.

Score: Annotation:

The student shows partial understanding of how changes in dimensions affect area and perimeter by
1 showing computations of the garden area with a supporting explanation and calculations. The fence
length is inaccurately calculated. This response earns one point.

36



SCORING GUIDE AND PRACTICE TEST ITEM

TRAINING MANUAL m HIGH SCHOOL MATHEMATICS

Mr. Lansing has a square garden that is completely surrounded by an old,
rickety fence. He plans to tear down the old fence and make his new square
garden 4 times the area of his old garden. If the old fence has a total length
of 80 ft, how long will the new fence be?

Determine the total length of the new fence and the area of the new garden.

Show your work using words, numbers and/or diagrams.

[0 XHO =HOO
D Al
/0 §F

fcv/zzof 50 4757

S l50) 2T

I ii?a%{;ﬁ/fr‘ej /0 é‘;r Y0 4+ 907 9’&’6‘7{?10;‘5_ ﬂen,
T mnftighed o0 by % s /600 50

f faak A _glaess 4{;7% 74& /5,1/[ of

Gne Side_of 54( Lonee CSO) Z. D/Iﬁl(ﬂ/{ lege

,4;, 50 Lot 32, T added 50450 130432
%}“ 74{4& /&t}?’?{ P %\L Frce.

The total length of the new fence will be Ie ‘{ it.

The area of the new garden will be 1600 _sq ft.

Score:

Annotation:

The student shows partial understanding of how changes in dimensions affect area and perimeter by
showing computations of the garden area with a supporting explanation. The fence length was
computed for a rectangle rather than a square. This response earns one point.

37



SCORING GUIDE AND PRACTICE TEST ITEM

TRAINING MANUAL 24 - Anchor 8 HIGH SCHOOL MATHEMATICS

Mr. Lansing has a square garden that is completely surrounded by an old,
rickety fence. He plans to tear down the old fence and make his new square
garden 4 times the area of his old garden. If the old fence has a total length
of 80 ft, how long will the new fence be?

Determine the total length of the new fence and the area of the new garden.

Show your work using words, numbers and/or diagrams.

The total length of the new fence will be[2LI00 .

The area of the new garden will be25200 sq fi.

Score: Annotation:

The student shows little or no understanding of how changes in dimensions affect area and perimeter.
0 The dimensions for the old garden were incorrect leading to inaccurate computations for the new
garden. The correct strategy for finding the new area was used but an inaccurate answer resulted. This
response earns zero points.
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SCORING GUIDE AND PRACTICE TEST ITEM

TRAINING MANUAL 24 - Anchor 9 HIGH SCHOOL MATHEMATICS

Mr. Lansing has a square garden that is completely surrounded by an old,
rickety fence. He plans to tear down the old fence and make his new square
garden 4 times the area of his old garden. If the old fence has a total length
of 80 ft, how long will the new fence be?

Determine the total length of the new fence and the area of the new garden.

Show your work using words, numbers and/or diagrams.

The total length of the new fence will be ﬂ ft,

The area of the new garden will he 38\0 sq ft.

Score: Annotation:
The student shows little or no understanding of how changes in dimensions affect area and perimeter.
0 The response has two incorrect answers with no supporting work. This response earns zero points.

39



SCORING GUIDE AND PRACTICE TEST ITEM

TRAINING MANUAL 24 - Anchor 10 HIGH SCHOOL MATHEMATICS

Mr. Lansing has a square garden that is completely surrounded by an old,
rickety fence. He plans to tear down the old fence and make his new square
garden 4 times the area of his old garden. If the old fence has a total length
of 80 ft, how long will the new fence be?

Determine the total length of the new fence and the area of the new garden.

Show your work using words, numbers and/or diagrams.

Score: Annotation:
The student shows little or no understanding of how changes in dimensions affect area and perimeter.
0 The dimensions of the “old fence” are given but with no additional work or answers given. This

response earns zero points.
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High School Mathematics WASL Practice Test

25 Which term is a factor of 3a° + 12a?
O A. 3a
O B. 4a
O C. 3&°

O D. 4a°

Key: A



High School Mathematics WASL Practice Test

34 The school playground, a 36 m square, is going to lose part of one corner due to
construction. The city will take a triangular section that measures 12 m and
12 m on the perpendicular sides.

—12m— ‘l,

\ ALIA
A% 36m
&

36 m

7 —s

The city has agreed to allow the school to expand the playground on the
remaining two sides to replace the lost area.

Find the approximate width of the strip that will be added to each of the two
sides.

Show your work using words, numbers, and/or diagrams.

Approximate width of the strip is
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Scoring Rubric

High School Mathematics Practice Test Item 34

Strand: Measurement

MEO03 Learning Target: (Procedures) Use formulas, including the Pythagorean
Theorem, to determine measurements of triangles, prisms, or cylinders
(1.2.5)

A 2-point response: The student demonstrates an understanding of measurement by
showing how to compute the area of a triangle (72 square meters) and find the width
(approximately 1 meter) of two rectangles that are 36 meters long and have an area
approximately equal to the area of the triangle.

A 1-point response: The student does one of the following:

e Shows the computation of the area of the triangle (72 square meters)

* Finds the approximate dimension of the width of the rectangle, which is 1 meter

* Uses the area of a square rather than a triangle and arrives at an incorrect width
of 2 meters.

A 0-point response: The student shows no understanding of how to compute the area of
a triangle or how to find the width of the rectangular piece of land with a given length
and area.
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34.  The school playground, a 36 m square, is going to lose part of one corner due
to construction. The city will take a triangular section that measures 12 m
and 12 m on the perpendicular sides.

+«—12m—

36 m

The city has agreed to allow the school to expand the playground on the
remaining two sides to replace the lost area.

Find the approximate width of the strip that will be added to each of the two
sides.

Show your work using words, numbers and/or diagrams.
() x12=liy 122 72

3okl = 7L

w or ShripA b

/]}Aﬁ va Huhe lpsing i P2 m2.
The, anﬁXiM%JC lenh b e
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wré(% @ﬂ%f Migds o ke lm.

Approximate width of the strip is ’ M

Score: Annotation:

) The student shows understanding of determining the area of a triangle and finding the width of two
rectangles whose total area is approximately the same as the triangle. The run-on equation cannot be
used as support but the student recovers in the written work. The response shows a width of 1 m. This
response earns two points.
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34. The school playground, a 36 m square, is going to lose part of one corner due
to construction. The city will take a triangular section that measures 12 m
and 12 m on the perpendicular sides.

«—12m— 1,

A =y,
I

36 m

The city has agreed to allow the school to expand the playground on the
remaining two sides to replace the lost area.

Find the approximate width of the strip that will be added to each of the two
sides.

Show your work using words, numbers and/or diagrams.

oy

D = - 13~ 2¢ex i
= R 3

72=125%
T TR

o=

Sas. Afder. meltiplydng sod m%n; wpom, gesb |, foud becauce

o dhad Ve  gedre Bepeenre ok (5 4&4%!{# Sleh fﬁ ezl ore
Approximate width of the strip is ) ar L4

Score: Annotation:

The student shows understanding of determining the area of a triangle and finding the width of two
2 rectangles whose total area is approximately the same as the triangle. The response shows width of
“I or .9.” This response earns two points.
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34. The school playground, a 36 m square, is going to lose part of one corner due
to construction. The city will take a triangular section that measures 12 m
and 12 m on the perpendicular sides. 2

«—12m— |

NETA
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&

36 m

The city has agreed to allow the school to expand the playground on the
remaining two sides to replace the lost area.

Find the approximate width of the strip that will be added to each of the two
sides.

Show your work using words, numbers and/or diagrams.

-

b Py ’cﬁ

(‘ yr iS \Ill A:\h'g‘,t_
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Approximate width of the strip is _* !

Score: Annotation:

The student shows partial understanding of determining the area of a triangle and finding the width of
1 two rectangles whose total area is approximately the same as the triangle. The response shows an
incorrect width of 4. This response earns one point.
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34. The school playground, a 36 m square, is going to lose part of one corner due
to construction. The city will take a triangular section that measures 12 m

and 12 m on the perpendicular sides. -

+«—12m— l

A
&
36m

The city has agreed to allow the school to expand the playground on the
remaining two sides to replace the lost area.

Find the approximate width of the strip that will be added to each of the two
sides.

Show your work using words, numbers and/or diagrams.

Approximate width of the strip is I "

Score: Annotation:

1 The student shows partial understanding of determining the area of a triangle and finding the width of
two rectangles whose total area is approximately the same as the triangle. The response shows a
correct width of 1 m but does not provide supporting work. This response earns one point.

47



SCORING GUIDE AND PRACTICE TEST ITEM

TRAINING MANUAL m HIGH SCHOOL MATHEMATICS

34. The school playground, a 36 m square, is going to lose part of one corner due
to construction. The city will take a triangular section that measures 12 m
and 12 m on the perpendicular sides.

«—12m—
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36m

The city has agreed to allow the school to expand the playground on the
remaining two sides to replace the lost area.

Find the approximate width of the strip that will be added to each of the two
sides.

Show your work using words, numbers, and/or diagrams.

v 2 L
" = =2

ve Sy Qi pve
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Approximate width of the strip is 2 LA A

Score: Annotation:

0 The student shows little or no understanding of determining the area of a triangle and finding the
width of two rectangles whose total area approximately is the same as the triangle. The response shows
an incorrect width of 2 m and no relevant supporting work. This response earns zero points.
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34. The school playground, a 36 m square, is going to lose part of one corner due
to construction. The city will take a triangular section that measures 12 m

and 12 m on the perpendicular sides. 5

+«—12m— l

N o,
L&
36m

The city has agreed to allow the school to expand the playground on the
remaining two sides to replace the lost area.

Find the approximate width of the strip that will be added to each of the two
sides.

Show your work using words, numbers and/or diagrams.

Approximate width of the strip is-__

Score: Annotation:

0 The student shows little or no understanding of determining the area of a triangle and finding the
width of two rectangles whose total area approximately is the same as the triangle. The response shows
an incorrect width of 3 m and no relevant supporting work. This response earns zero points.
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34. The school playground, a 36 m square, is going to lose part of one corner due
to construction. The city will take a triangular section that measures 12 m
and 12 m on the perpendicular sides.

?
«—12m— |

A
& |
36m

The city has agreed to allow the school to expand the playground on the
remaining two sides to replace the lost area.

Find the approximate width of the strip that will be added to each of the two
sides.

Show your work using words, numbers and/or diagrams.

St
TUE

Approximate width of the strip is | & M

Score: Annotation:

0 The student shows little or no understanding of determining the area of a triangle and finding the
width of two rectangles whose total area approximately is the same as the triangle. The response shows
an incorrect width of 3 m and no relevant supporting work. This response earns zero points.
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34. The school playground, a 36 m square, is going to lose part of one corner due
to construction. The city will take a triangular section that measures 12 m
and 12 m on the perpendicular sides.

?
«—12m !

N o,
&

36 m

The city has agreed to allow the school to expand the playground on the
remaining two sides to replace the lost area.

Find the approximate width of the strip that will be added to each of the two
sides.

Show your work using words, numbers and/or diagrams.

5 by 30 dakw,  of6 M
by 12wl dwe  tvae
wet pA'S i.,.%r 2¥ \graw CGen
add e by b +p mate

b 40 by 10

Approximate width of the strip is_( /i

Score: Annotation:

0 The student shows little or no understanding of determining the area of a triangle and finding the
width of two rectangles whose total area approximately is the same as the triangle. The response shows
an incorrect width of 3 m and no relevant supporting work. This response earns zero points.
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2007 Mathematics Sample Items
5 Triangle JKE is an obtuse isosceles triangle with mZE =10° and KE > JK.

What is the measure of ZJ ?

OA. 170°
O B. 160°
OcC. 85
OD. 10°

Item Information

Score Points: 1
Key: B
Tools: X

Strand and Target GS01 (Properties and Relationships): Demonstrate understanding of
the characteristics of cylinders, cones, and pyramids and the relationships among
1-dimensional, 2-dimensional, and 3-dimensional figures; draw, describe, and/or compare
1-dimensional, 2-dimensional, and 3-dimensional shapes and figures, including prisms,
cylinders, cones, and pyramids; use the Pythagorean Theorem to determine if a triangle is a
right triangle (1.3.1, 1.3.2)
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2007 Mathematics Sample Items

6 Dorine drew a quadrilateral on a coordinate grid.

y
A

- DD W A 00O N

Dorine reflected the quadrilateral over the line y =—-2 and then
translated it left 4 units.

What are the coordinates of the image of point M?

OA. (2,-5)
O B. (-2,-5)
OC. (-6,1)
OD. (2,1

Item Information

Score Points: 1
Key: B
Tools: X

Strand and Target GS02 (Locations and Transformations): Use geometric properties to
describe or identify the location of points on coordinate grids; use multiple transformations
including translations, reflections, and/or rotations to create congruent figures (1.3.3, 1.3.4)
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2007 Mathematics Sample Items

12 Silvia worked in a store that sold cylinder-shaped children’s pools. She
made a sign relating the volumes of these two pools.

The Splasher Pool holds

2 percent of the water
the Paddler Pool holds.

Paddler Pool Splasher Pool
—12ft —— f 24 ft l

The volume of the Paddler Pool is 1087 cubic feet.

The Splasher Pool holds which percent of the water the Paddler Pool holds?

OA. 33%
OB. 75%
OC. 133%
O D. 300%

Item Information
Score Points: 1

Key: C
Tools: X

Strand and Target MCO1 (Connections within Mathematics): Use concepts and
procedures from multiple mathematics content strands in a given problem or situation; relate
and use different mathematical models and representations of the same situation (5.1.1, 5.1.2)
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2007 Mathematics Sample Items

16 Livia saw this drawing at a museum:

y
A

Figure 1

T R |

Name two transformations that could be used to move Figure 1 to Figure 2.

Use the words rotation, reflection, and/or translation to describe the
two-step transformation.




2007 Mathematics Sample Items

Item Information

Score Points: 2
Tools: X

Strand and Target GS02 (Locations and Transformations): Use geometric properties to
describe or identify the location of points on coordinate grids; use multiple transformations
including translations, reflections, and/or rotations to create congruent figures (1.3.3, 1.3.4)

Scoring Guide for item number 16

A 2-point response: The student shows understanding of describing the combination of two
translations and reflections to transform one figure to another figure on a coordinate grid by
doing the following:

* writes to translate down 9, or equivalent

* writes to reflect over the y-axis

A 1-point response: The student does one of the following:
* writes or shows to translate (slide) down 9, or equivalent
* writes or shows to reflect (flip) over the y-axis
* writes a combination of more than two transformations to transform Figure 1 to
Figure 2.

A 0-point response: The student shows very little or no understanding of describing the
combination of two translations and reflections to transform one figure to another figure on a
coordinate grid.

NOTE: A description of a translation must include the direction and the distance.
NOTE: A description of a reflection must include a line of a reflection.

NOTE: A description of a rotation must include the point of rotation and the amount of
rotation.
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16 Livia saw this drawing at a museum:

y
A
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Name two transformations that could be used to move Figure 1 to Figure 2.

Use the words rotation, reflection, and/or translation to describe the
two-step transformation.

) c,o—E E
S R

TiE mawmm 3 LG Gorat
“Ihr.r*.E’:E&f.r'rﬂ%I BUET Ao W Gil 1T forern,

- —

. “u
UL UE B -

Annotation for example 2-point response:

The student shows understanding of describing a combination of two translations, reflections,
and/or rotations to transform Figure 1 to Figure 2. The student describes a translation “...down
9 units...” followed by a reflection “...over the y axis...” This response earns two points.
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16 Livia saw this drawing at a museum:

y
A
Sp7
6
Ca
< 4
Figure 113
2
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Name two transformations that could be used to move Figure 1 to Figure 2.

Use the words rotation, reflection, and/or translation to describe the
two-step transformation.
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Annotation for example 2-point response:

The student shows understanding of describing a combination of two translations, reflections,
and/or rotations to transform Figure 1 to Figure 2. The student describes a “...vertical
translation of -9,” followed by a reflection “...across the y axis...” This response earns two points.
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16 Livia saw this drawing at a museum:
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Name two transformations that could be used to move Figure 1 to Figure 2.

Use the words rotation, reflection, and/or translation to describe the
two-step transformation.
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Annotation for example 2-point response:

The student shows understanding of describing a combination of two translations, reflections,
and/or rotations to transform Figure 1 to Figure 2. The student describes two different ways to
transform Figure 1 to Figure 2. Fortunately they are both correct. This response earns two
points.
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16 Livia saw this drawing at a museum:
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Name two transformations that could be used to move Figure 1 to Figure 2.

Use the words rotation, reflection, and/or translation to describe the
two-step transformation.
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Annotation for example 1-point response:

The student shows partial understanding of describing a combination of two translations,
reflections, and/or rotations to transform Figure 1 to Figure 2. The student describes a
reflection “...over the y-axis,” followed by an incorrect transformation. The transformation does
not result in Figure 2. This response earns one point.
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16 Livia saw this drawing at a museum:
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Name two transformations that could be used to move Figure 1 to Figure 2.

Use the words rotation, reflection, and/or translation to describe the
two-step transformation.
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Annotation for example 1-point response:

The student shows partial understanding of describing a combination of two translations,
reflections, and/or rotations to transform Figure 1 to Figure 2. The student describes “...reflect
it once...” but fails to name the line of reflection. “...translate it down 9,” is one of the possible
correct transformations. The transformation does not result in Figure 2. This response earns
one point.
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16 Livia saw this drawing at a museum:
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Name two transformations that could be used to move Figure 1 to Figure 2.

Use the words rotation, reflection, and/or translation to describe the
two-step transformation.
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Annotation for example 1-point response:

The student shows partial understanding of describing a combination of two translations,
reflections, and/or rotations to transform Figure 1 to Figure 2. When the student writes “Figure
1 could be reflected over the y axis and then translated (0,-9),” it is a description of a correct
reflection, but (0,-9) is a point, not a description, of a translation down 9 units. This response
earns one point.
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16 Livia saw this drawing at a museum:
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Name two transformations that could be used to move Figure 1 to Figure 2.

Use the words rotation, reflection, and/or translation to describe the
two-step transformation.

Annotation for example 0-point response:

The student shows little or no understanding of describing a combination of two translations,
reflections, and/or rotations to transform Figure 1 to Figure 2. The student writes the vertices
for Figure 1 and Figure 2, but does not describe a transformation. This response earns zero
points.
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